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1. Listen to the dialogue and choose the chair that the woman
would most likely buy.

[0.6%1

2. Listen to the dialogue and choose the option that best
describes the emotional change that the man went through.

[1.8%]
@ shameful — proud
@ excited e upset
@ nervous nd relieved
@ regretful — satisfied
® joyful  —  bored

3. Listen to the following monologue and choose the option
that is NOT true. [1.54]
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4. Listen to the dialogue and choose the option that is NOT
true. [1.34]

5. Listen to the following monologue and choose the option

that best explains how dolphins rescue human beings.

[1.5%]

(D They use their sense of smell to detect injured people.
@ They use their long tails as tools to attack sharks.

@ They swim away with human beings on their back.

@ They make high—pitched sounds to drive sharks back.
(® They exchange signals and synchronize for protection.
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6. Listen to the dialogué and choose the correct relationship

[1.5%]

between the two people.

Man Woman
@ musician = fan
@  fortune—teller = client
@  veterinarian — pet ‘owner
@ financial consultant — -customer
® wedding planner - bridegroom

7. Listen to the following monologue and choose the purpose
of the talk. ‘ [1.34]

@ to get a refund for her damaged camera

@ to complain to the company about the product

@ to find the person who sold the damaged camera to her

@ to inform people how to buy a better used camera online

® to urge the authorities to take proper actions against
online fraud

8. Listen to the following monologue and choose the purpose
of the talk. [0.671]

@ to compare dehydration with starvation

@ to teach how to make vegetable salad

@ to relieve our worries about water intake
@ to warn of the dangers of water deficiency
® to explain the function of water in our body

9. Listen to the dialogue and choose how much the woman

will pay. [1.5@]
@ $350 @ $370 ® $400
@ $530 ® $560

10. Listen to the. news and choose the option that
INCORRECTLY illustrates the given information. [1.33]

@ @ ©) @ ®
_lllm]] .=
. : Reusable Electrical | Information
Steel Gil Refiuers Energy Equipment | Technology

11. Listen to the dialogue and choose the option that is NOT
mentioned in the talk. [1.5%]

@ Noise ,

@ Air pollution

@ Increase in crimes

@ Destruction of forests
® Loss of animal habitats

12. Listen to the news and choose the option that is true.

[1.0%]
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13. Listen to the news and choose the option that is NOT
true. [1.3"]

O B IR {F S

@ ARNESL 59 v vjw 3R =3

® A EYol AER AT ofA A2A] 13

@ T3 & AY &A Ui # 1=

® AA BE7I2 sl A AL o




9 o £

http://enjoyenglish.co.kr

) 9 9

3

14. Listen to the dialogue and choose the man's best response
[1.3"]

to the woman's last statement.

@ 1 should not have finished the work early.

@ Honey, you don't need to feel sorry about that.

@ I know you are good at sending a text message.

@ Sorry, but I had trouble choosing your birthday present.

® Really? I haven't had time to check my messages until
now.

15. Listen to the  dialogue and choose the woman's besf
[1.54]

response to the man's last statement.

D The pot calls the kettle black.

@© Every cloud has a silver lining.

@ Two heads are better than one.

@ When in Rome, do as the Romans do.

® To know is one thing, to teach is another.
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16. Question: What are they doing in the conversation?
’ [1.5"]

(@D They are uncovering the school gossip.

@ They are planning to make their study group.

@ They are searching for new material for their project.

@ They are dividing-up.the material to study for-the test.

® They are chatting about the new member of the study
group.

18. Question:

17. Question: Which of the following is NOT true about the

conversation? [1.34]

D The man bet money on the Super Bowl game.

@ The man expects the Tigers to beat the Dragons.

® The woman picked one team to bet on.

@ The woman doesn't know the rules of football.

® The woman doesn't sympathize with people's excitement
over the Super Bowl.

[18~19]

NOT  true?

[0.63]

Which of the following is

@ The woman agrees on stem cell research.

@ The man has a positive attitude about cloning.

@ The company in California raises money against cloning.

@ Cloning might save endangered species from extinction.

® Stem  cell research might be beneficial to solving medical
problems.

19. Question: According to the conversation, what kind of

[1.5%]

animal has NOT been cloned?

@ dog ® mouse

@ rabbit

@ sheep
® panda

20. Question: Which of the following is true about the man?
[1.0%]

@D The man has an appointment with his dentist on Monday.
@ The man has to have lunch with a visitor on Tuesday.
@ The man will go on a business trip on Wednesday. -

@ The man will meet the woman on Friday.

® The man will call her tonight.
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21. -
(30%)

(1071

Tall—grox\aving orchids need a little extra support to stay
upright, but the stakes they lean on are usually an
eyesore. To keep the beauty of the blooms, purchase
Bend into a
90—degree angle four inches from the top. Curve the top
portion to form a U shape. Plant the stake next to the
orchid, and hook the U shape around the stem. '

floral—stem wires from a crafts store.

Question:
@ @ ® @ ®
[22 —~ 23]

(1% 10x)

There are five different types of corn. Popcorn is the
only variety that will pop consistently. According to a
scientist, other corns might pop on occasion but with little
regularity. The key to popcorn's ability is, amazingly,
water. Each popcorn core contains water, which most
popcorn processors try to maintain at about 13.5 pércent.
The water is stored in a small circle of soft starch in each
core. Surrounding the soft starch is a hard enamel—like
starch. When the core is heated for popping, the water
inside heats and begins to expand. The function of the
hard starch is to resist the water as long as possible.
When the water expands with such pressure that the hard
starch gives way, the water bursts out, causing the core to
explode. The soft starch pops out. The water, converted
into steam, is released, and the corn pops. The other four
varieties of corn are able to store water effectively. But
their outer starch isn't hard enough to resist the water
pressure of the expanding core, so nothing happens.

22. Question:
@ @

[1.3"]
®

23. Question: [1.84]
@ @ ©)] @ ®

24. [1.8"]
(40%)

Hours before a game, beneath major league baseball's
newest stadium, one of the sport's oldest rituals is under
way. Two Washington Nationals bat boys are rubbing
brown clay on dozens of new balls. Only when they're done
can the umpire yell, "Play ball!" The clay has been helping
pitchers get a grip for 70 years. After a wild pitch killed a
batter in 1920, a tacky substance was sought. Shoe polish
and tobacco juice didn't stick. So a type of clay was used.
The clay was found in a New Jersey swamp. In 1938 it
became a big—league staple and in 1968 it made the Hall
of Fame.

Question:

()

258
(50%)

[1.33]

Some people shrink when they see a rat, but a scientist
smiles. A scientist devised a way for rats to help solve a
global problem such as searching for land mines. Dogs are
often used to find the land mines out, but he knew rats
were easier to train. Rats are also light, so they don't
blow up the land mines they find; they stay healthy in
tropical where many explosives are buried; and
they're cheap to breed and raise. In the late 1990s he
chose the African giant rat, with its very sensitive nose,
for training: If the rats scratched the ground when they
sniffed explosives, they got a reward. More than 30
trained sniffer rats have started sweeping minefields in
Uganda, where they've cleared almost a quarter square
mile.

areas,

Question:

@
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26. [1.5%]
(30%)

The significance and meaning of the construction of the
Pyramids are uniquely sacred and religious. A pyramid is a
huge but simple structure made to commemorate a dead
king. The dead king had to continue to exist in the
afterlife because he became divine and had to assure the
welfare and survival of his people. The most important
pyramids were not constructed by a lot of humiliated
slaves, but by the mass of Egyptian farmers, who were
motivated to participate in something sacred.

Question:

@ ) ® @ ®

217. [1.8%]
(50%)

A car boot sale is a mainly British kind of market in
which private individuals come together to sell household
and garden goods. The term refers to the selling of items
from an automobile's "boot" in the UK, or "trunk" in the
U.S.A. Although a small proportion of sellers are
professional traders selling new goods, or seconds, the
goods on sale are often used but no longer wanted
personal possessions. Car boot sales encourage people to
recycle still useful but unwanted domestic items that
previously would have been thrown away. In the U.S.A. a
car boot sale would be considered something between a
garage sale or yard sale and a flea market or swap meet.
Unlike car boot sales, however, people need to have a
business license when they want to sell something in a
flea market in the U.S.A.

Question:

) @ €) @ ®

28. [1.34]
(50%)

Turkeys have never been raised to produce eggs for
human consumption, because it is much less expensive to
produce chicken eggs.
production, which results in high body weight and low egg
production," says a professor of Warwick University. A

"Turkeys are raised for meat

female turkey weighs between 9.5 and 15 kilograms during
the laying period of her life, while a chicken weighs just
over one kilogram. Hence, the nutrient requirements to
maintain a turkey's weight are much greater than those of
a chicken. Plus, the laying period for a turkey is much
shorter: During its reproductive lifespan, a turkey will
produce 15 to 25 eggs averaging 90 grams each, while a
chicken will yield 300 eggs of about 55 grams each.

Question:
@ @ ® @ ®
[29 ~ 30]

(12 10%)

After gaining independence, many nations try to establish
a democracy. But a democracy is difficult to maintain. A
dictatorship is perhaps the easiest government to set up.
Most often, the person with the most military power takes
charge. They can usually do this in only a few hours. A
democracy, on the other hand, is very difficult to create. It
needs three main elements. First, democracy needs
experience. This comes with time. People need to establish
democratic traditions. In the United States, for example, it
took a long time before true democracy was established.
The United States became independent in 1776, but
slavery was legal for quite a long time after. Women could
not vote until 1920. Second, democracy needs a middle
class. When there is only an upper class and a lower
class, there is often fighting. The upper class might treat
the lower class poorly. A democracy needs teachers,
business owners, and others who are neither very rich nor
very poor. The third need of a democracy is public
education. A democracy must have citizens who can read
and think about important issues. Then they can make
wise choices when voting. Many former colonies lacked
experience, a middle class, and educated citizens. So
dictators took over many nations in Latin America, Asia
and Africa.
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29. Question: [1.54] }
@ @ (©) @ ®
30. Question: [1.3%"]

() ) ® @ ®
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